
Division par 10⁻² (E)Trouvez chaque quotient.
1,92 ÷ 10⁻² = 9,5 ÷ 10⁻² =
4,6 ÷ 10⁻² = 6,54 ÷ 10⁻² =
2,16 ÷ 10⁻² = 4,354 ÷ 10⁻² =
1,5 ÷ 10⁻² = 5,5027 ÷ 10⁻² =
9,48 ÷ 10⁻² = 8,54 ÷ 10⁻² =
1,6 ÷ 10⁻² = 3,432 ÷ 10⁻² =
6,76 ÷ 10⁻² = 8,4 ÷ 10⁻² =
1,1625 ÷ 10⁻² = 9,8755 ÷ 10⁻² =
3,2333 ÷ 10⁻² = 8,1897 ÷ 10⁻² =
2,433 ÷ 10⁻² = 4,3 ÷ 10⁻² =
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Division par 10⁻² (E) SolutionsTrouvez chaque quotient.
1,92 ÷ 10⁻² = 192 9,5 ÷ 10⁻² = 950
4,6 ÷ 10⁻² = 460 6,54 ÷ 10⁻² = 654
2,16 ÷ 10⁻² = 216 4,354 ÷ 10⁻² = 435,4
1,5 ÷ 10⁻² = 150 5,5027 ÷ 10⁻² = 550,27
9,48 ÷ 10⁻² = 948 8,54 ÷ 10⁻² = 854
1,6 ÷ 10⁻² = 160 3,432 ÷ 10⁻² = 343,2
6,76 ÷ 10⁻² = 676 8,4 ÷ 10⁻² = 840
1,1625 ÷ 10⁻² = 116,25 9,8755 ÷ 10⁻² = 987,55
3,2333 ÷ 10⁻² = 323,33 8,1897 ÷ 10⁻² = 818,97
2,433 ÷ 10⁻² = 243,3 4,3 ÷ 10⁻² = 430
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